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QUESTION 1
With regards to the directory structure below, select the proper forms of the directives in order to import module_c.

(Select two answers) A. from pypack.upper.lower import module_c

pypack (dir)

|
b— upper (dir)

— lower (dir)

| L— module c.py (file)

|
|
|
|
|
|
|
L— module a.py (file)

B. import pypack.upper.lower.module_c
C. import upper.module_c
D. import upper.lower.module_c

Correct Answer: AB

QUESTION 2

Which of the following expression evaluate to True? (Select two answers)
A. \Vin not\\" in \\'not\\

B. Win\\' in WThames\\

C. \Wt\\' . upper () in WThames\\'

D. Win\\' in Win\\

Correct Answer: CD

QUESTION 3

Which line can be used instead of the comment to cause the snippet to produce the following expected output? (Select
two answers)

Expected output:
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Code:

e B a=1, 3, 2
¥ put line here
print (a, b, c)

A.c,b,a=b,a,c
B.c,b,a=a,cb
C.a,b,c=c,ab
D.a,b,c=a,b,c

Correct Answer: AC

QUESTION 4

Which of the following statements are true? (Select two answers)
A. Python strings are actually lists

B. Python strings can be concatenated

C. Python strings can be sliced like lists

D. Python strings are mutable

Correct Answer: BC

Reference: https://docs.python.org/2/tutorial/introduction.html

QUESTION 5

You need data which can act as a simple telephone directory. You can obtain it with the following clauses (choose two
relevant variants; assume that no other items have been created before)

A. dir={\'Mom\\':5551234567, \\'Dad\\'.5557654321>

B. dir={\W'Mom\\"\\'5551234567\\', * Dad\\"\\'56557654321\\'}
C. dir={Mom:5551234567, Dad:5557654321}

D. dir={Mom:\\'5551234567\\', Dad:\\'5557654321\\'}

Correct Answer: CD
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